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CLASS VIII
ENGLISH ASSIGNMENT

Learning Qutcomes

e To define direct speech and indirect speech.
e To distinguish between direct and indirect speech.

e Acquire knowledge of rules for converting direct speech to indirect speech and
indirect speech to direct speech.

What is Direct & Indirect Speech?

Direct Speech: the message of the speaker is conveyed or reported in his own actual words
without any change.

Indirect Speech: the message of the speaker is conveyed or reported in our own words.
Example —

e Direct: Radha said, “I am very busy now.”
e Indirect: Radha said that she was very busy then.

1. All inverted commas or quotation marks are omitted and the sentence ends with a full
stop.

2.  Conjunction ‘that’ is added before the indirect statement.

3. The pronoun ‘I’ is changed to ‘she’. (The Pronoun is changed in Person)
4. Theverb ‘am’ is changed to ‘was’. (Present Tense is changed to Past)
5.

The adverb ‘now’ is changed to ‘then’.

Tips on Direct and Indirect Speech:

v" Tip 1: Conversion Rules as per the Reporting Verb

When the reporting or principal verb is in the Past Tense, all Present tenses of the direct are
changed into the corresponding Past Tenses.

e Direct: He said, “I am unwell.”
e Indirect: He said (that) he was unwell.

If the reporting verb is in the Present or Future Tense, the tenses of the Direct Speech do not
change.

e Direct: He says/will say, “I am unwell.”
e Indirect: He says/will say he is unwell.



The Tense in Indirect Speech is NOT CHANGED if the words within the quotation marks
talk of a universal truth or habitual action.

e Direct: They said, “We cannot live without water.”

e Indirect: They said that we cannot live without water.

v Tip 2: Conversion Rules of Present Tense in Direct Speech
Simple Present Changes to Simple Past

e Direct: "I am happy", she said.
e Indirect: She said that she was happy.

Present Continuous Changes to Past Continuous

e Direct: "l am reading a book", he explained.
e Indirect: He explained that he was reading a book.

Present Perfect Changes to Past Perfect

e Direct: She said, "He has finished his food”.
e Indirect: She said that he had finished his food.

Present Perfect Changes to Past Perfect
e Direct: "I have been to Gujarat”, he told me.
e Indirect: He told me that he had been to Gujarat.
v Tip 3: Conversion Rules of Past & Future Tense

Simple Past Changes to Past Perfect

e Direct: He said, “Ira arrived on Monday."
e Indirect: He said that Ira had arrived on Monday.

Past Continuous Changes to Past Perfect Continuous

e Direct: "We were living in Goa", they told me.
e Indirect: They told me that they had been living in Goa.

Future Changes to Present Conditional

e Direct: He said, "I will be in Kolkata tomorrow."
e Indirect: He said that he would be in Kolkata the next day.

Future Continuous Changes to Conditional Continuous

e Direct: She said, "I'll be using the car next Friday.”
e Indirect: She said that she would be using the car next Friday.

v Tip 4: Changes in Modals
CAN changes into COULD



e Direct: He said, "I can swim."
e Indirect: He said that he could swim.

MAY changes into MIGHT

e Direct: He said, "I may buy a house.”
e Indirect: He said that he might buy a house.

MUST changes into HAD TO/WOULD HAVE TO

e Direct: He said, "I must work hard.”
e Indirect: He said that he had to work hard.

Modals that DO NOT Change: Would, Could, Might, Should, Ought to
e Direct: He said, "I should face the challenge.”
e Indirect: He said that he should face the challenge.
v Tip 5: Conversion of Interrogative

Reporting Verb like ‘said/ said to’ changes to asked, enquired or demanded

e Direct: He said to me, “What are you doing?”
e Indirect: He asked me what I was doing.

If sentence begins with auxiliary verb, the joining clause should be if or whether.

e Direct: He said, “Will you come for the meeting?”
e Indirect: He asked them whether they would come for the meeting.

If sentence begins with ‘wh’ questions then no conjunction is used as the "question-word"
itself act as joining clause.

e Direct: “Where do you live?” asked the girl.

e Indirect: The girl enquired where I lived.

v" Tip 6: Command, Request, Exclamation, Wish
Commands and Requests

Indirect Speech is introduced by some verbs like ordered, requested, advised and suggested.
Forbid(s)/ forbade is used for the negative sentences. The imperative mood is changed into
the Infinitive.

e Direct: Rafique said to Ahmed, “Go away.”
e Indirect: Rafique ordered Ahmed to go away.
e Direct: He said to her, “Please wait.”

e Indirect: He requested her to wait

Exclamations and Wishes

Indirect Speech is introduced by some words like grief, sorrow, happiness, applaud.
Exclamatory sentence changes into assertive sentence and Interjections are removed.



e Direct: He said, “Alas! I am undone.”
e Indirect: He exclaimed sadly that he was broke.
v Tip 7: Change of Pronouns
The first person of the reported speech changes according to the subject of reporting speech.

e Direct: She said, “I am in ninth class.”
e Indirect: She says that she was in ninth class.

The second person of reported speech changes according to the object of reporting speech.

e Direct: He says to them, "You have completed your job.”
e Indirect: He tells them that they have completed their job.

The third person of the reported speech doesn't change.
e Direct: He says, "She is in tenth class.”
e Indirect: He says that she is in tenth class.
v Tip 8: Change of Place and Time

Words expressing nearness in time or place in Direct Speech are generally changed into
words expressing distance in Indirect Speech.

Now -- then

Here -- there

Ago -- before

Thus -- so

Today -- that day
Tomorrow -- the next da
This -- that

Yesterday -- the day before
These -- those

Come -- go

Hence -- thence

Next week/month -- following week/month

e Direct: She said, “My father came yesterday.”

e Indirect: She said that her father had come the day before.

e Direct: She says/will say, “My father came yesterday.”

e Indirect: She says/will say that her father had come yesterday. (Here the reporting
verb ‘says’ is in the present tense OR ‘will say’ is in future tense; hence the time
expression ‘yesterday’ won’t change.)



v" Tip 9: Punctuation

The words that are actually spoken should be enclosed in quotes and begin with a capital
letter.

Example: He said, “You are right.”

Comma, full stop, question mark, or exclamation mark must be present at the end of reported
sentences and are placed inside the closing inverted comma or commas

Example: He asked, “Can I come with you?”

If direct speech comes after the information about who is speaking, comma is used to
introduce the piece of speech, placed before the first inverted comma.

Example: She shouted, “Stop talking!”

Example: “Thinking back,” she said, “he didn't expect to win.” (Comma is used to separate
the two reported speech and no capital letter to begin the second sentence).

v" Tip 10: Conversion of Indirect to Direct Speech
1. Use the reporting verb, "say" or "said to" in its correct tense.
2. Remove the conjunctions "that, to, if or whether etc" wherever necessary

3. Insert quotation marks, question mark, exclamation and full stop, as per the mood of the
sentence.

4. Put a comma before the statement.

5. Write the first word of the statement with capital letter.

6. Change the past tense into present tense wherever the reporting verb is in the past tense.
7. Convert the past perfect either into past tense or present perfect as found necessary.
Example

e Indirect: He asked whether he is coming.
e Direct: He said to him, “Are you coming?”

VIDEO LINK
https://www.youtube.com/watch?v=pGOYIbXbNOo&ab_channel=TeacherPhilEnglish

https://www.youtube.com/watch?v=ew4YHmNigRs&ab_channel=TeacherPhilEnglish

QUESTION BANK

Change the direct speech into indirect speech:(1 x 5 =5M)
1.“He works in a bank”
She said ......ovniii

2.“We went out last night”



Shetoldme ..........oeiiiiiiiiiiii

3.“I was waiting for the bus when he arrived”
Shetoldme ........oooviniiiiiiiii

4. “I’d never been there before”

She said ......oeiiiiii
5.“I didn’t go to the party”
Shetoldme........oovviviiiiiiiii
HOTS (2M)

a. State two uses of Direct and Indirect speech with reference to day to day life.
b. How can you distinguish between Direct and Indirect Speech?

ACTIVITIES
1. COMPLETE THE TABLE

Direct Speech Indirect Speech

Today

Here

Ago

Tonight

Tomorrow

Last Week

2. SPOT THE ERRORS

Each of the indirect sentences given below contains a mistake. See if you can spot
and correct that mistake.

a. Direct: The boy said, “I’m happy with my results.”
Indirect: The boy said that he is happy with his results. (Incorrect)
b. Direct: She said, “I have baked a cake.”
Indirect: She said that she baked a cake. (Incorrect)
c. Direct: He said, “All people have equal rights.”
Indirect: He said that all people had equal rights. (Incorrect)
d. Direct: Roshni said, “I may meet him here”.

Indirect: Roshni said that she may meet him here. (Incorrect)

MATHEMATICS — Mensuration

Please watch these video:



https://www.youtube.com/watch?v=J6oxcXvuYI8

https://www.youtube.com/watch?v=Ma303Fv69WA

Learning Outcomes:

i Students will revise the area of plane figures.

ii. Students will be able to calculate the area of Trapezium, Rhombus.
Definition:

Perimeter is the distance around its boundary and its area is the region covered by it.
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Area of Trapezium
a

b
Areaof Trapezium = %h(a+b)

Example: The area of a trapezium shaped field is 480 m?, the distance between twoparallel sides is
15 m and one of the parallel side is 20 m. Find the other parallel side.

Solution: One of the parallel sides of the trapezium is a = 20 m, let another parallelside be b, height h
=15m.

The given area of trapezium = 480 m>.
Area of Trpezium = %h(a + b)

480 =§ x15 x(20 + b)

480 X2
15

=20+Db

64=20+b
b=64-20
b =44m.

Area of Rhombus
Area of a rhombus is half the product of its diagonals.



A=1dd,
Activities:
I
Objective: To obtain the formula for area of trapezium.
Method:

i Draw two identical trapeziums of parallel sides ‘@’ and ‘b’ units on a colouredparer and
cut them out.

a b
b - a
ii. li. Place them as shown in the figure:
A

D a b [
b . ¢ B
Demonstration:

i Figure formed by the two trapeziums is parallelogram ABCD
ii. Side AB of parallelogram = ( a+ b) units and its corresponding altitude = h units.
iii. Area of Trapezium =% ( area of parallelogram) =% (a+b) h
Therefore area of trapezium =% ( a+b) h
=% ( Sum of parallel sides ) height

I
Q- Mohan wants to buy a trapezium shaped field. Its side along the river is parallel to and twice the
side along the road. If the area of this field is 10500 m* and the perpendicular distance between the
two parallel sides is 100 m, find the length of the side along the river.

Ruoad

Solve the following Questions:

Q-1) What is the formula for finding area of a Trapezium? [1 Mark]
Q-2) What is the formula for finding area of a Rhombus? [1 Mark]
Q-3) The area of a rhombus is 240 cm2 and one of the diagonals is 16 cm. Findthe [2 Marks]
other diagonal.

Q-4) The area of a trapezium is 34 cm? and the length of one of the parallel sides is10 cm and its
height is 4 cm. Find the length of the other parallel side. [3 Marks]



Q-5) A square and a rectangular field with measurements as given in the figure have the same
perimeter. Which field has a larger area? [3Marks]

HOTS

Q-6) The length of a side of a square field is 4 m. What will be the other diagonal of the rhombus, if
the area of the rhombus is equal to the square field and one of its diagonal is 2 m?

Q-7)The area of a trapezium is 91 cm” and its height is 7 cm. If one of the parallel sides is longer than
the other by 8 cm, find the two parallel sides.

Q-8) A flooring tile has the shape of a parallelogram whose base is 24 cm and the corresponding
height is 10 cm. How many such tiles are required to cover a floor of area 1080 m??

Q-9) The area of a trapezium is 384 cm”. Its parallel sides are in the ratio 3:5 and the perpendicular
distance between them is 12 cm. Find the length of each one of the parallel sides.

Value Based Question:

Q-10) In a slogan writing competition in a school, Rama wrote the slogan ‘Truth pays, never betrays’
on a trapezium shaped cardboard. If the lengths of parallel sides of trapezium are 60 cm and 80 cm
and the distance between them is 50 cm, find the area of trapezium. What are the advantages of
speaking truth?

SUBJECT-SCIENCE

CHAPTER -LIGHT

LINK- https://youtu.be/s-w-SehoRKQ

Learning outcome —students will be able to know the different light phenomenon.

Image formation in a plane mirror

e The image formed by a plane mirror is always virtual, erect and object and image are
equidistant from the mirror.

e The image formed in a plane mirror undergoes lateral inversion.
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Difference between the real and virtual image

A real image is formed by the actual convergence of light rays. In optics, a virtual image is an
image formed when the outgoing rays from a point on an object always diverge. The image
appears to be located at the point of apparent divergence. Because the rays never really
converge, a virtual image cannot be projected onto a screen.

Multiple reflections

¢ Two mirrors inclined to each other give multiple images, due to multiple reflections.
¢ When an object is kept between two parallel plane mirrors, infinite images are formed.



Multiple reflections

Calculating the total number of images

Number of images formed by plane mirrors is given by n=360.6—1.
Dispersion
Dispersion of light

e The splitting of light into its component colours is called as dispersion.
e Example: Rainbow



Refraction

Light

Reflection

Observer

Rainbow Formation

ACTIVITY -1

AIM-To confirm the laws of reflection.

Fix a white sheet of paper on a drawing board or a table. Take a comb and close all its openings
except one in the middle. You can use a strip of black paper for this purpose. Hold the comb
perpendicular to the sheet of paper. Throw light from a torch through the opening of the comb
from one side . With slight adjustment of the torch and the comb you will see a ray of light along
the paper on the other side of the comb. Keep the comb and the torch steady. Place a strip of
plane mirror in the path of the light ray . What do you observe?




Let us understand a litle more about the formation of image by a plane mirror in the following

way:

Activity- 2
AIM-To show the way of rays of light.

A source of light O is placed in front of a plane mirror PQ. Two rays OA and OC are incident on
it. Can you find out the direction of the reflected rays?
Draw normals to the surface of the mirror PQ, at the points A and C. Then draw the reflected
rays at the points A and C. How would you draw these rays? Call the reflectedrays AB and CD,
respectively. Extend them further. Do they meet? Extend them backwards. Do they meet now? If
they meet, mark this point as |. For a viewer’s eye at E , do the reflected rays appear to come
from the point I. Since the reflected rays do not actually meet at I, but only appear to do so, we
say that a virtual image of the point O is formed at |.

Fig.5 : Image formation in a plane mirror

You may recall that in an image formed by a mirror the left of the object appears on the right and

the right appears on the left. This is known as lateral inversion.



Match the following items given in Column A with that in Column ‘B’: (7)

Column A

Column B

(i) Cornea (a) Transparent front part of eye
(i) Pupil (b) Layer on which impression of images is formed
(ii1) Iris (c) Point on retina where there are no nerve endings

(iv) Retina

(d) Sensitive for bright light

(v) Blind spot

(e) Is a small opening in the cornea

(vi) Rods

(f) Sensitive for dim light

(vii) Cones

(g) Controls the size of the pupil

Answer

Fill in the blanks with the appropriate words: (1 MARK EACH)

1. Impression of an image persists for

Answer

of the second on retina.



2. Angle of reflection is always ............. to the angle of incidence.

Answer

K T is a small opening in the corner.

Answer

4. Cones are sensitive to ............. light.

Answer

5. Muscles attached to the eye lens ............. and the lens becomes .............

distant objects are to be seen.

Answer

6. To keep our eyes fit our diet should include vitamin

Answer

7. Impression of an image in eye is formed on ..........

Answer

8. Braille system has ............. dot patterns.

Answer

rich eatables.



1. Both incident ray and reflected ray lie in the same plane.

Answer

2. Diffused reflection is due to the failure of the laws of reflection.

Answer

3. The image formed by plane mirror is laterally inverted.

Answer

4. The iris is the coloured part of the eye.

Answer

5. Rods are sensitive to bright light.

Answer

6. Changing of the thickness of the eye lens is called accommodation.

Answer

HOTS —

Find the no of images when,angle between two mirrors are-
A) 0 degree
B) 30 degree
C) 45 degree
D) 60 degree
E) 90 degree
F) 120 degree
G) 180 degree
H) 270 degree
[) 360 degree
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LESSON PLAN / Assighment (December)2 week

Subject-History
Sub teacher-Poonam Pathak

Topic:-Chapter 5-When People Rebel: 1857 and After

Sub Topic :- Through the Eyes of the People, A Mutiny becomes a popular
Rebellion, From Meerut to Delhi.

Learning Objectives:-To make Students acknowledge about the Rebel of

1857and perspective of the people.

To make students know about the mutiny rebel and it’s causes
Methodology:-PPT, Video and word file

You tube link:-https://youtu.be/PW38U5cb1H8

Activity 1:-Make a PPT on when people rebel:1857and after
Activity 2:-Write a short note on Mangal Pandey
When People Rebel: 1857 and After

Through the Eyes of the People: People concived that the English were
determined to wipe out the religions of Hindu and the Muslims and wanted the
whole population to be converted in Christianity.

A Mutiny Becomes a Popular Rebellion
1. In May 1857, a massive rebellion started against the company’s very presence

in India.

2. The instant reason of mutiny was the use of cartirdges greased with cow and
pig fat. sepoys took it as blot on their religious sentiments and news spread in
all the regiments.

3. Sepoysmultinied in several places beginning from Meerut and a large number
of people from different sections of society rose up in rebellion.

4. Anger against high taxes, disruption of crafts and trade, dissatisfaction of
nobles and rumour in sepoys finally lead to the mutiny of 1857.

From Meerut to Delhi:



1. On 29 March 1857, Mangal Pandey, a young soldier was hanged to death for
attacking his officers in Barrackpore and soldiers also rebelled against the use
of greased cartridges.

2. Inresponse to this revolt, soldiers were captured and were put in jail.

3. The response of the other Indian soldiers in Meerut was quite extraordinary,
they marched to the jail to Meerut and released the imprisoned sepoys.

4. The sepoys rode all night of 10 May to reach Delhi.

5. The regiments stationed in Delhi also rose up in rebellion and many British
officers were killed, arms and ammunition seized, buildings set on fire.

6. The soldiers forcibly met Bahadur Shah Zafar and proclaimed him as their
leader.

7. Bahadur Shah accepted the rebellion’s plea & called regional rulers to fight
against British.

Assignments:-

1mark

Koonl.The sepoys were angry with the British because
(a) of their policy of divide and rule

(b) of the cartridge episode

(c) of their intoleratingbehaviour

(d) none of these

2iiiiiiiiiinn continued to fight a guerrilla war against British.
(a) Rani Lakshmibai

(b) Tantia Tope

(c) Nana Saheb

(d) PeshwaBaji Rao 11

3.The Mutiny started from
(a) Bareilly

(b) Delhi

(c) Agra

(d) Meerut

4. The sepoys were angry with the British because

(a) of their policy of divide and rule



(b) of the cartridge episode

(c) of their intolerating behaviour

(d) none of these

5. 5.Which emperor blessed the Mutiny?

a) Mir Zafar

(b) Bahadur Shah Zafar

(c) Bhakt Khan

(d) None of these

Give one word or one sentence answer

bl S

Who were the leaders from Bihar who joined the rebellion?

When did Bahadur Shah Zafar die?

What is the term Mutiny means?

Who was the governor-general who decided that Bahadur Shah Zafar would be the
last Mughal king?

3 marks:-

1. Mention the reasons behind the discontent of the Indian
sepoys employed in the Company?

2. What was the new amendment in the law in 1856 passed by the East India
Company?

3. What objections did the sepoys have to the new cartridges that they
were asked to use?

5 marks:-
1.How did the Company plan to end the Mughal Dynasty?

2.What did the British do to protect the interest of those
who converted to Christianity?

( Critical thinking based question/HOTS)

1.Discuss about some new leaders who came up during the revolt
of 1857.



SANSKRIT
MR. SANJAY

https://youtu.be/8jnvWWknt-s




